
   Sayfa No: 

İli   : TRİGONOMETRİK  
NİVELMAN HESAP 

ÇİZELGESİ 

Sayfa No                     : 

İlçesi : Düzenleyen : 

Mah  : Tarih : 

N.N. 
Zenit Açısı (z) 

(gon) 

Yatay 
Mesafe (u) 

(metre) 

h=u*cot(z) hi-hg 
(metre) 

li-lg 
(metre) 

Kot 
(metre) -hg +hi 

                

                

                

                

                

                

                

                

                

                

                

                

                

                

                

                

                

                

                

                

                

                

                

                

                

                

 


